SUMPOBRIEIANITOIS5 L

SEUMSD SuMPO EPD A IR A AT IR RS
.. D 54T INBESE (EPD) ERET A EX A 1-14-8
VERIFIED KANDA SQUARE GATE

FixE=S © JR-AlI-25461E https://ecoleaf-label.jp

FUJIHILM

Value from Innovation

BIIAL EJRZX A/N-3a A E"
FUJIFILM Business Innovation Corp.

A3 HS—1EEH

o A3 Color Multifunction Printer
E — Apeos C3060
— (Model-CPS-B+1Tray with Cabinet)
b (for Europe)
(P a——

Apeos. Apeos 0. ApeosPro. ApeosPort . 8&U ApeosPrint (&, EXTAIAESRIA IR 3RS OB REIRFEIEETT,

HEHAL ERES JR-AI-25461E
e By ERAPCRES  PA-590000-Al-08
PCR%& G YNk 2o
BEEMRERME UNEI=! 2026/6/1
S iRE (I eh R B4 RALEHE  2026/3/10
OEMERE QEE @B GOFFER - HiF RIEA VAT LEREE A
®RE- YY1 RS S 2025-FB-EL-105
REFE AR 203143898
HEmOBN, TEMLER-FE PCRLE1-DETE
Bz : Apeos C3060 REHBSE 2023F 94 1H

(Model-CPS-B+1Tray with Cabinet)
FEMLR  N5-EESHE EPHR)
EDRI®EEE : £/70 30ppm (A4 LEF)

15— 30ppm (A4 LEF)
RARABYAZ T A3, 11 x 17"
TUVb/IE-/AF v
0 T EN Rl B2 /ADF (R F B B 500 )

HlAY=Yok:%
EaEMAXAREHFSUV6T HI1E
https://www.fujifilm.com/fb/

ZER #ig &2

(1B —MAEEEAY RT T IVRE )
E=EHREAET BEHT
S EBIREES

BEERUT -0 LIAREE
OIS WAL
*YAT LRI E R FENORTIVHAE, YATARIE(TLBEAD
HRIERH,

ISO14025[Z %>

SEXTMIVLESRRA I NR—>3 EAaH

E#HES © JR-AI-25461E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SuMPO SuMPO EPD SUMPORIESANITOIT A

E p D _ —MAEEAY AT IR EHEERAS
o .l S4TNBIBEE (EPD) HRET B PAHE1-14-8
o ERlETEL KANDA SQUARE GATE
BEHES: JR-AI-25461E https://ecoleaf-label,jp
F1 791V EFTITER
SUELEE) - &5 kg-CO2eq 5.66E+02 2.63E+01 8.33E+01 1.74E+02 9.94E+01
AUV BHIE kg-CFC-11eq 4.24E-05 4.28E-08 2.64E-08 5.01E-06 1.28E-08
EREL kg-PO43-eq 1.44E-02 1.03E-03 1.86E-04 6.50E-03 1.24E-04
[rye(e kg-SOzeq 1.66E+00 1.73E-01 5.91E-02 6.75E-01 1.02E-01
HALEAFII I kg-CzHieq 1.09E-02 3.15E-05 3.92E-04 1.58E-03 8.85E-04
FEME RS - S5 kg-Sbeq 5.35E-01 9.55E-05 1.35E-05 1.34E-01 1.77E-05

S1THLIIWAIRY Y 3 IREIEE R
—REROERCET31E1R

FRERE | WERE | AR Efg';fﬁ s
BHATRE—RER - IRIF- (RPRy) MJ 1.27E+03 2.19E+02 9.68E+00 7.15E+02 3.98E+01
BAETE—RERE - IRVE-2EHE (RPRy) MJ 1.71E+01 3.66E-03 2.51E+02 6.62E+02 8.65E-03
FEBEARE—RERE - TRIE— (NRPRp) MJ 9.52E+03 8.97E+02 9.56E+02 3.68E+03 5.39E+02
FEBEATE—RER - IRLE-2HBME (NRPRy) MJ 1.30E+03 2.78E-01 2.83E+00 3.85E+02 8.10E-02
HKKDEEE m? 3.83E+00 2.27E-02 2.63E+01 7.00E+01 7.60E-03
HEBRICEAT2EMIER
A-OvN\EEEFEELTEELELE,
EAMEPHR)DEEYFUATEELTVET,
B RO EFE AR EMTT,
(B - MR ICB BRI EROETEEENE A,
ERBOEN . IRVF-25-T0TF LVer3 28 (SR> TCHE LETECIEZ TICEELELE,
- R EENRIMELE. 135,000 T,
1/4 x30 (J37/8) x 150 x 5 () x 4 (B) x 12 (v B) x 5 (&) = 135,000
ZDftDIRIERE SR
IXNF-25-T0Y5LVer3.2 HE,
MRS LOYECE S 28RS EEYMECETZIER
-8 (ERIBS) Bifyy b= CAS No. ENE
@ 44 kg - _ _
SuUS 0.26 kg - - -
TIVIZUA 14 kg
ZothERE 6.1 kg ERALEZRT-IDEZXS
T3AFvY 32 kg REAIE, LCIT-5N-2RIDEA Ver3.4, SUMPOREININTOIS L& FT -5
BN 0.42 kg Ver.1.16& AL TWET,
AR 18 kg
R [ AR 18 kg -
it 36 kg
Z0ft 3.6 kg

@T-YEEDHEL. PCRELUVEE - ESHEESBL TR,
OLLEIIDVTE. BEE - EERBICRESNREEHB LSS LLARDONEEA,
(BEBSURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

